28/06/2016 College Lecturer Exam - Zoology-II

Rajasthan Public Service Commission - 2016 o
ues: 150

Paper : Zoology-11 Time: 3 Hours

Ques # :1

The microscope in which the object is illuminated but the field surrounding it appears black is :
1) fluoroscence microscope

2) phase-contrast microscope

3) compound microscope

4) confocal microscope

gaaet fww F18 avq T e sHE TRET F1em @ dary, FEaEn e ;
D) gfadia gaaresft

2) 3rqeer - cafas garge

3) e gewee

4) Fomfer gergelf

Ques # :2

Which of the following statements is INCORRECT regarding confocal microscope?
1) scans one plane of a specimen at a time

2) obtains three dimentional images of cells

3) scanning is done by using lasers

4) provides images of biological molecules in atomic details

A - gereell F wrarr A sl wrFuT a8 ?

D) org ver @ #F Rl gTeel 3 TR €1 T T Tohel AT |

2) g I3t A HfgeT ofy yreq F=arg

3) &oT 7 o & ATETH § Thet AT AT &

4) qxaTey SaTET & WY Sifaw up3Ht T 9 feEe vereT FRar §

Ques # :3

Most commonly used probe for protein detection is
1) lecithin

2) antibody

3) antigens

4) interferons

WA S F fOT IH=IaAr ST N § -
D afafde

2) gfared

3) wfdreter

4 greries

Ques # 4

Which of the following statements are correct about FISH technique ? A. Does not require a linkage map. B.
Exploits nucleic acid hybridization. C. can determine the pattern of expression of a cloned gene. D. Can
determine the chromosomal location of a cloned gene.

1) A,B,C
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2) A,B,D
3) B,C,D
4) A,C,D

UH.3TE.TH.UH. (FISH) dasiis & fod Sl & a1 eI € 2 (A) g3l AT Y ITaeThdT Ag!
gt § | (B) 7gFllah 1o HEHIOT T 3TANT FIAT ¢ | (C) FlleT siter 1 srfdeafaa & wawa
Pruife w3ar & | (D) Fate slier & IR vuer # uiRa Far g

Ques # :5

An IgG antibody has :

1) one fab region and one Fc region

2) two fab regions and two Fc region

3) two fab regions and one Fc region

4) many fab regions and many Fc regions

T IgG yfaRah F g & -

1) wep fab 819 30T vk Fe &1

2) 2 fab 877 3 &Y Fe &7
3)E\Tfab&q_=r3ﬂTWFca3ﬁr

) 3rETT fab &1 3T 3EET Fe &1

Ques # :6

Regarding electrophoresis SDS - PAGE which statement is INCORRECT ?
1) the technique is used in enzyme purification

2) the technique is used to check the lipid profile

3) the smaller molecules migrate more rapidly through the gel

4) the molecules have the same charge to mass ratio

T 3 U SAFIPR AT A T T AT hYF AT 2

D) 71z aerefier weatrsa & Yfegaor 7 wad Hr e § |

2) Ig depeiten TaITE WIS (T &Y STae AIGFTEIA & |
3) BT 3707, St & @I 3T fadr & faenfia g ad § |
4) 3TUTHT # 1AL 3R eI AT T HeTTed FHA BIAT & |

Ques # 7

From the following which one is NOT used as a detector in Gas Liquid chromatography (GLC) ?
1) Flame ionization detector (FID)

2) Nitrogen phosphorus detector (NPD)

3) Thermal conductivity detector (TCD)

4) Electron capture detector (ECD)

& - AW FASTH (GLC) # 7T & & 71 GqaF & T & GIFd 181 12T AT 2
D) e (flame) 3a=iehoT ST (FID)

2) ATSEIST - BB THIH (NPD)

3) F0T - yaTgehe HHAS (TCD)

4) gorereTet FRET HHTF (ECD)
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Ques # :8

Which statement is INCORRECT regarding Auto radiography ?

1) Auto radiography of gels allows the identification of specific proteins and nuclei

2) It is the exposure of X-ray film to a radio-active sample

3) It is used in conjunction with microscopy

4) It is not possible to localize radio active markers to particular cells in tissue sections

HERTZAITH & Tegsl H FleT AT FYT AT E 2

D) Ster siferkfEaiand & faferse W aur A1ffeT T ggarT ardl & |
2)Wm’@wmﬁ$9ﬁX-rayWme%|

3) I ATSHIERIA & GY TS A IGFTGIATE |

1) Ig GHT FET T IS IAUTFea AR Fahrg sie 7 fraT [ IfRrer T gg=re T G |

Ques # :9

Match List | with List Il and select the correct answer by
using the codes given below inthe List :

List | List Il
|. Active transport A Uptake of chyle by intestinal cells
Il. Endocytosis B. Release of neurotransmitters by nerve cells
lll. Passive diffusion  C. Reabsorpion of salts from kidney tubules
V. Exocytosis D. Entry of oxygen from lungs into capillary

1) I1-A,II-C,NI-D,IVB
2) I1-BJII-A,I-C,IV-D
3)  I-C,II-A,lII-D,IV-B
4 1-CJII-A,I-B,IV-D

g | 3R g2 1 & Fere fifee @k Ao g &
I HI5 FHT ITANT I T el 3 QT |

g | =il
| githg 3TEaAAT (A) 3T SIS & @RI FHISAT Sl AGOT Al
|| vsEEafET (B) df3hT FIFRIGET & g@rT <RIgHe FT HiFd

RGBSR (C) gaehir wAfeihI3il & STgoil &1 Yol HGeuoT
IV vaaraEsefay (D) 3iTadr=teT T FHaT § FIRFEET 7 gaer

1) I-A,II-C,III-D,IVB
2) I-B,II-AIll-C,IV-D
3) I-C,JII-AIlI-D,IV-B
4) I-CJII-AIll-B,IV-D
Ques # :10

All of the following statements regarding lysosome are correct except :

1) lysosomes contain hydrolytic enzymes

2) for the activity of hydrolases the lysosomes maintain a pH of 7.2 in its interior
3) the lysosome membrane contains transmembrane proteins

4) lysosomes exhibit polymorphism

AEEH & Feasl # e RRTsyar A d et adi &, Raw sas -

D) arsaras & grsgiasits teed sufdaga g

2) gTgsreret & ARRAOT & T eTS e el 3iia e pH 7.2 T W@ ¥ |
3) ATEEEH Y Brea F SEAFT W FATISe @ & |
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4)HB@@WE§FWQE%W%|

Ques # :11

The transport between Golgi cisternae ( intra-golgi transport) involves the following steps : I. Donar cisternae
gives rise to a coated bud IlI. The bud is uncoated and attaches to acceptor cisternae III. A complex of three
proteins (fusion machine) helps in fusion of bud with acceptor cisternae releases the contents IV. The bud is
detached and is targated to acceptor cisternae

DI,IV, 10,101
)WL, ILT,IV
31,10, 1V, 1T
H1,10, 1V, 11

Mot ATt & 7ALT (=) s ) TRaga A A o afFafaa g1a # :- 1 arar R{veddt (afa
i ) F1 fAATor F3clt & | 11 Hwr 3rafa gich § o aréh et & st & 11 e Ndew 1
el (Tt Fefler ) HAHT & AT Rl F AT FeryeT Y HerIT eI I ¢ FR Froaft

fovsiara Ftar g | 1V Ffost a8t Jrd & aur ) e fr sy afdra et 8
1,1V, 11,111
2)II,10,1,1V
3)1,11,1V, 111
41,11,1V, 11

Ques # :12

Match List | with List || and select the correct answer
by using the codes given below in the List :

List l{site of mitochondria) List ll{enzymes)
|. outer membrane A. cytochrome b-c , complex
Il. perimitochondrical space B. fattyacid CoAligase
lll. iInner membrane C.Adenylate kinase
V. matrix D.enzyme of TCA cycle

1) I1-A,I-B,JI-C,IV-D
2) 1-C,I-D,JII-A,IV-B
3) I1-A,JJI-D,III-B,IV-A
4) 1-B,I-C,I-A,IV-D

g | 3R = 1 @ e fifee iR AR g1 T R
I HIS AT ITAET I §T el IR AT |

g | gl

| @ fSree (A) HT3EIRIA b -c el

|| ATSSIHRIEAT T ATRET  (B) €T 375 CoA B
Il 3eaRes Bieer (CeTEToee SEad

IV HTEIT=T (D) TCA I & UsAlsH

1) I-A,I-BJII-C,IV-D
2) 1-C,I-D,II-A,V-B

3) I-AJJI-D,III-B,IV-A
4y I1I-B,I-C,II-A,IV-D
Ques # :13

In order to enter a cell cycle, a cell must be stimulated from outside. What type of molecule provides this
stimulation ?

1) Cyclins
2) Tyrosine Kinases

444
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3) Cyclin - dependent Kinases
4) Cytokines and growth factors

FIRASHT Toh H TAT FIA & FOT FIAFT Y MR T 30T A= 3raea ¢ | B TR & 3707
HITRAHT HT T ST YGT FIA § 2

D) arsfaera

2) TSV Srgeret

3) grsehfare - 3T e

4) FrsrErEed aUT gig FRE

Ques # :14

Mitotic anaphase differs from metaphase in possessing :

1) same number of chromosomes and same number of chromatids
2) same number of chromosomes and half number of chromatids
3) half number of chromosomes and half number of chromatids
4) half number of chromosomes and same number of chromatids

FHAYAT ToAThel HaEAT AT @ e g FAfF sw 7 -

D) aroregat i wear qur wafes S T o FAT g |

2) TUTHAT T TATT HEAT W] HIATS T T el grelr &

3) aroTegt 1 TG e G & e AR A e o e g g
4) aroTAt S T e gUr PR B HE FAE g ¢ |

Ques # :15

Which of the following statemet regarding Pribnow box is FALSE ?
1) The sequence of nucleotides is 5'-TATAAT-3'

2) It is centered at 10 bp position

3) It facilitates the localized unwinding of DNA

4) It facilitates the elongation of RNA chain

ﬁﬂmﬁﬁ'(Pribnow box)ﬂ?ﬁ##mmwm%?
D) FfFeraiierssd &1 % 5' - TATAAT - 3' @ ¥ |

2) g 10 bp & TIA R hiead A & |

3) 9E DNA & T 3155ee T graem &ar g |

4) 7z RNA Sreffertor sf@er i gfaur &ar g |

Ques # :16

Which of the following is NOT a property of DNA polymerase I in Prokaryotes ?
1) 5" — 3’ polymerase activity

2) 5§ — 3’ exonuclease activity

3) 5 —— 3’ endonuclease activity

4) 5" — 3" exonuclease activity

srfAdafa & feeT F @ i a1 DNA AR - 1 FTaoT A -
1) 5 3 gidieiRe afkgar

2) 57 T 3 vadlegaeivs dishadl

3) 57 3 uusiegadId Afhadr

4 5 T * I vadegEelvS Hishadr
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Ques # :17

DNA Topoisomerases in recombination are -

1) Responsible for removing super coils in the helix

2) Responsible for the localised strand replication

3) Joins the initiation complex and contributes to the formation of two bidirectional replication fork
4) unwind the double helix using ATP

qel: AloteT A 3. T . T, SNIMSHAIAT -

D) 3o & sfaguses 1 ge & fAT scaRer 81 § |

2) T T T FTATrdIHIOT X1 & foIT SecRer ¥ |

3) grefie HE e & WY S5 &1d fGATeHe FfAferdianor S Jeilet # ARTar FXAT ¢ |
4) ATP T 3UANT Yl §U frepusTer o5 1 3rpusford e |

Ques # :18

During DNA replication , the enzyme which polymerises the Okazaki fragments is :
1) RNA polymerase I

2) DNA polymerase I

3) DNA polymerase 11

4) DNA polymerase II1

DNAW?WWWW@WWW%
1) RNA TifafasT 1

2) DNA QifafaT 1

3) DNA Wifafasr 11

4) DNA Qfafast 111

Ques # :19

The semi-conservative replication of DNA is proved by using which isotope?
1) NH and N15
2) N and pY
3 P and c™
4) NH and C‘I-fl

DNA &7 3reiuvaft gfafordiesor e smsaieia fr aerard Rg aars 2
1) N wam NP
2) N uagm P
3) P31 ggg 1
4) 14 m ce

Ques # :20

The function of general transcription factor (TFIIA), testis specific transcription factor is :-
1) stabalize TBP and TAF binding

2) recognizes TATA box

3) contains ATP-dependent helicase

4) stimulates elongation
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AT Ao @l FRF (TFIIA) (TFT FfAfhF grafreer haet ) FTH ¢ -

1) TBP T TAF SotreT &Y TR LT § |

2) TATA STeFg &7 GgTelar § |

3) ATP 3menfia eforet sad 3uftua g ¥ |
4) Ereffentor &Y Scafoid LT § |

Ques # :21

The DNA chain acting as template for RNA synthesis has the following order of bases AGCTTCGA. What

will be the order of bases in mRNA ?
1) TCGAAGCT
2) UGCUAGCT
3) TCGAUCGU
4) UCGAAGCU

U& DNA #[@dT ST RNA TV & AT SFrae A a@ S FAI §, AR FATATFR R

AGCTTCGA | mRNA & &TR s 8191 2
1) TCGAAGCT
2) UGCUAGCT
3) TCGAUCGU
4) UCGAAGCU

Ques # :22

DNA molecule carries information in :

1) Total number of nucleotides

2) Amino-acid sequence

3) The order of bases in the molecule

4) Sugar and phosphate that form its backbone

DNA T 379 HTHT T I§T FIAT ¢ |

D) feeicssa & o dEar 3

2) 37t 3 1 e &

3) 3rop3ir 3 SRR BT 35 T oY

4) QT AT IR 39T, ST SHET MR 8, 3

Ques # :23

Ef - Ts is an example of :

1) Termination factor

2) Elongation factor

3) Enzyme that catalyses peptide bond formation
4) Antibiotic that resembles 3'end of tRNA

Ef - Ts 3&TeX0T § -

D ganfaa R &1

2) E1enOT Sheh T

3) torrga ot GeTes art & FvoT Y SR AR
4) Shraroy aATere S RNA & 3 T & FRerdT - Jerar &

Ques # :24
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The enhancer elements are segments of DNA that - I. function in any orientation II. Function in tissue specific
manner III. Function as promoters IV. Activate transcription of a gene irrespective of their position in the
DNA chain Choose the correct combination from the following :

HI,10, 1
21,11, 1V
3)I, 10, IV
41,11, 1V

DNA @vsl ¥ affgacagia &, st 1 rd s iR s s s asa ¥ 11 v Rfse a= &
forT 1 3 & 1 Yo & T A 1 T ¢ 1V ST F Iqarde : GiHT a8, 87 § DNA
HEel # 3ot FRufa $o oft 8 | faeer & @ waifts gafaa g &1 aaa ffed

1,11, 1

2)1,1,1V

311,10, IV

H1,10, 1V

Ques # :25

Lac Operon and trp Operon are examples of :
1) Negative control

2) Positive control

3) Both positive and negative control

4) Neither positive nor negative control

A 3T TUT trp () T 3ETEI0T & -
1) sotreres fd=or &t

2) e1etTcHeh T g=oT &t

3) erATcHS AT FHUTcHS 0T et ahr
4) AT UATCHS &7, 7T HOTMcHF Hl

Ques # :26

The repressor protein in a eukaryote may block gene expression by binding to a DNA site called :
1) Inducer

2) Enhancer

3) Silencer

4) Regulator

AR & deue WA s AffcafFa 1 o DNA T W iR g I S E sq Fga &

D 3= (inducer)

2) Usg=aX (enhancer)
3) AT elea (silencer)
4) W (regulator)

Ques # :27

RNAI stands for which of the following :
1) RNA interference

2) RNA insertion

3) RNA inducer

4) RNA intron

RNAi FT # @ frasrydi= -
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1) RNA gEdalT (interference)
2) RNA faert (insertion)

3) RNA 36 (inducer)

4) RNA Seret

Ques # :28

The example of degeneracy of the genetic code is :
1) the given one amino acid has more than one codon
2) the genetic code is not degenerate

3) the first two bases specify the amino acids

4) each codon specifies more than one amino acid

HAITRAF FHT F Y (A1) F1 eI :

1) wep 3refiet 31er & ToIT Ueh & 3770 Sisiel 3T &l |

2) 3MTeTaifI e T IAT LT e |

3) g & &TC 3felt 3l B ST e ¥ |

4) geh ISTeT Ueh T 3T 3HAT 375l ) AfEse Fear g |

Ques # :29

The nucleotide sequences on DNA that actually have information encoding a sequence of amino-acid are :
1) introns

2) exons

3) introns and exons both

4) none of these

frelt St wor . T W g A3NeTss AHeThA oY aread A Rt 3l 3 i aee & faw gEeme
IG@ATE , FedATdT g :-

I)W

2) vedte

3) I gt

D et A A P

Ques # :30

To deal with the DNA damage a number of repair enzyymes are present which are known to catalyse the DNA
repair . Which of the following is NOT an enzyme of Direct Repair System.

1) DNA photolyase

2) Apurinic endonuclease

3) Spore photoproduct lyase

4) 05- methyl guanine DNA methyl transferase

&1fareaT DNA & arg gwgitar w3 & fav o gfaqfd froas saRya @a ¢, St DNA fraewa &
IR £ e F1 S & | vt o @ ey |7 G st Rt e @ weafaa A ¥

1) DNA wreiforTeT

2) Teffae wogiegsentst

3) TR wewsee fausr

4) OF-fAarse a[uslier DNA TRaISE grE®HIa

Ques # :31
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All of the following statements are correct about overlapping Gene Groups (OGGs) except :
1) OGGs arise when exon of one gene are contained within the introns of another

2) OGGs are defective copies of functional genes

3) In OGGs the two overlapping genes are encoded on opposite DNA strands

4) OGGs are often associated with specific disease phenotypes

AT AT o7 (0GGs) T Fraftra waft Foyer weh & Famw 589 -

1) 0GGs s=7er & 51 foriY Ueh SieT BT SaraileT GaY SiteT T SgTeT 3 FHATARIT @Il § |
2) 0GGs HIEHNY ST Hr araqut yfgat grdr &

3) 0GGs # & Jfaeafid sie fawid DNA T3 W AT a1 ¥ |

%) 0GGs wrar: TafRrse et wraTor 9faw T & | o ¢ |

Ques # :32

Which of the following is most suitable defiition of an operator in context of prokaryote gene :
1) A DNA binding protein that regulates gene expression

2) A cluster of genes which are regulated by a single promoter

3) A non-coding regulatory DNA sequence bound by RNA polymerase

4) A non-coding regulatory DNA sequence bound by a repressor protein

Il St TR & Heasl # T F gaiftF Sugera TR gl :
1) e DNA st/ NI Y S srffeateaa = afag s g

2) Sf=iY &7 g S Uehel YA & RfFTfAT @ d

3) ek aATeT HIFT RATATTAT DNA 377537 , RNA Tieliesr § Sueli ¥ |

4) e =AfeT PR RATATAT DNA 3175 TIER AT ganr et W@t &

Ques # :33

The cell surface receptors are classified in three groups : I. G protein linked receptors II. Enzyme linked
receptors II1. Ion-channel linked receptors IV. Lipase linked receptors select the correct answer using the
codes given below :

DI,I, IV
)10, 100, IV
3)1,11, 111

4H1,10,1V

FRAFT TS HATEH! Y clieT HHET H Fafiepe fraT AT § 2 [ G NET HEAI HATEH 1l TeaiSH
eI GATES 111 3TAA - AT Hgelddd UGS 1V ATSIST eIl AT sl ST a0 h1g Y
HEEAT ¥ HEl Iee} A :-

DI,I,1V

2)10, 11, IV

31,11, 1

41,11, 1V

Ques # :34

Which statements is FALSE regarding paracrine signals ?
1) These are extracellular signals

2) These show local effects

3) These are short lived

4) These are usually carried through blood stream

IIHISA Hohdl & Teg A FIT AT FIT AT E 2
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D) o5 seg ARAT dHd g ¥ |
2) g5 T g S ¥ |
3) Ig A THT F o 3URRYT AT ¥ |
4 g ur: TR Y18 GIRT Tg e S ¥ |

Ques # :35

The compounds that acts as "second messangers' during signaling process are : L. calcium ions II. cAMP III.
TAG (Triacylglycerol) IV. Inositol - 3,4,5, triphosphate select the correct answer using the codes given below

1) 1,11, 11
2) I, 1,1V
3) 1,10, 1V
4) 1,11,1V

ATHfa® YA 7 ' gfadIT Haer aTee ' Y aE F1 Fa ara DA § : 1 HTErIet 3= 11 cAMP 111

TIBUHIS TaWRIe (TAG) IV SAAC - 3,4,5 TEHITHE
1,11, 10

)1, 1, IV

31,10, 1V

HT, 10,1V

Ques # :36

Which of the following cell function is a communicating function ?
1) Desmosomes

2) Hemidesmosomes

3) Gap Junction

4) Adherens Junction

o F & Pl T1 FIAFT TAST, TUITOT AT FEATAT & 2
D) semraea

2) geheenreey

3) 37crer |

4) 3o @i

Ques # :37

The cyclic AMP dependent protein kinases (PKA) in most of the cases :
1) add phosphate groups to proteins

2) hydrolyse protein

3) polymerises amino acids

4) stimulates adenylyl cyclase

THT AMP T NET FEaiotor (PKA) FOF :
D) rethe @eg Y N T s §

2) Q& I STt HTEed W &
3)3ﬂ=h?-|’r31+oi‘iao‘rq§oiq?lqaw|aw‘{aﬁ%

4) ufEsirer Grsolol Sl IETT L &

Ques # :38

When a signal molecule arrives at a G protein linked receptor , the G protein :
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1) Becomes deactivated
2) Binds to signal molecule

3) Binds with Ca™

4) Becomes activated

aﬁaﬁémﬂcmmmwﬁaﬂ%,me
D st gramd g

2) FHATI & AL T AT |

3) Ca” & ary g9 ST § |

Y) afrg gy s @

Ques # :39

The three active genes belonging to c-ras family in man which give to oncogenes are :
I)N,Rand K
2)N,Hand K
3)H,Rand K
4)N,Hand R

Wﬁc-rasﬁﬁmmmﬁﬁﬂﬁmm%:
DN,R3RK
2)N,H3RK
3)H,R3IRK
YN,H3IRR

Ques # :40

Which type of cancer in humans is directly caused by viral infection ?
1) Acute T - cell leukemia

2) Wilm's tumour

3) Burkitts lymphoma

4) Rous sarcoma

HTST A FFE YR HT FoaT Toq&T T § 15T WHHVT GaRTBIeav g |
I)WT-celqu‘\a?ﬁl'ﬂT

2) fyeas TR

3) qefrew fawwrar

4) §31g GrenfAT

Ques # 41

p53 is called a ""guardian of the genome" because :
1) It kills tumour cells

2) It protects genome from DNA damaging chemicals
3) It prevents genome mutation

4) It inhibits cell stress

p53 Y "SAAH FT HI&TH" FET AT &, FAF

1) 27 31 PRGBS H1 AR &1 &
2)WDNAﬁ€IﬁQ§ﬂTﬁWWﬁSﬁ?ﬂH&#WW§
3) gg NAH ScaRadT I VhaT &

4) I1g PRI T o AeheT ¥ |
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Ques # :42

The cellular organelle involved in the initation of the intrinsic pathway of apoptosis is :
1) Mitochondria

2) Lysosome

3) Endoplasmic Reticulum

4) Ribosome

ag IAFT 3 N TNARAT F Al ARt F IRFEw A smrAar e -
D) srserfegar

2) arsErEH

3) 37csiged SAforenT

) rsaraH

Ques # :43

Molecules which are involved in the anchoring of cells to an extracellular matrix are
1) Angiostatin

2) Integrins

3) Cyclins

4) Interleukins

g% 37T Y FIFRAFTIN FT a7 FIART 3remh @ sga A wFafaaa e, ¢ -
D) wesiiaireefea

2) sfeefara

3) arsfrera

%) sectegfea

Ques # :44

The quorum, sensing signal molecule in gram-negative bacteria is :
1) Propyl cortisone

2) Ethyl methyl ketone

3) Isopropyl aldosterone

4) Acyl homoserine lactone

ATH FOTeAT Q1] 7 TR AT aTe "FARA" HdeT TFha F[ A § -
D) grarger it

2) syred fAUsd Hrad

3) 3TSE NITSe Tes R

4) vaTSe - QYRR ot

Ques # :45

An individual with the genotype AaBaCc will produce :

1) Eight different types of gametes

2) All gametes of the same type

3) Four types of gametes

4) Four gametes of one types and remaining gamete of a second type

TS gied foraeT SAlAesT AaBaCe § , 3cUesT HLIMT -
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D) 3115 R YR & JIAH
2) g3fr AT YR % JIAH
3) IR TR & JIAH
4) IR FaHAE U TER % AT T U G7HS GER TR

Ques # :46

An allele is dominant if it is expressed in :

1) Both , homozygous and heterozygous state
2) Second generation

3) Heterozygous combination

4) Homozygous combination

T Teliel THTE BT &, 5T I 1fAeTad &) -
D gt , gorgeash 3R fawwrgeesh &

2) e i o

3) RayAgTAST HSTe ganT

4) FAGIAST HASA IR

Ques # 47

The gene linkage minimizes the chance of which of the following ?
1) Assortment

2) Cross-over

3) Recombination

4) Segregation

T FeoTaaT AT A A FT F I FAFCAATE ?

Ques # :48

In a cross involving mutant genes b and e is done, 3% recombinants are observed . When a cross involving
mutant genes t and e is done 22% recombinates are observed . When a cross involving mutant genes b & t is
done 10% recombinations are observed . What is the correct order of genes on the chromosomes ?

1) t,e,b
2) t,b,e
3) b,t,e
4) b,e,t

farelt e 7 3caRafcda sier b @uT e 7 3% T1: FAo= S@T IR ¢ | 919 SeuRafda e cqare &
ST HLATAT IAT Y 22% IoT: WASTT S@T 91T | 5T SeqRafeler Siter ¢ aum b # e FHarm ar ar
10% Ge1: GAISTT @ 91T | IOTYA T 31 et SeAY 1 HE v 1 g19m 2

Ques # :49
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Consider the following statements and give the correct answer using the codes given below : I. Phenotype is
the expression of a trait II. Genotype can be ascertained from the ancestory III. Homozygous individuals
produce two kinds of gametes IV. Genetically pure, true breeding organisms resulting from inbreeding are
called pure line :

)I,11, 11
21,10, 1V
3)I, 10, IV
41,10, 1V

fFrfafad Fuel #1 €9 # @ §T A 713 F3 1 Teaar @ T See? ST : 1 7Rl s e (
ST&TOT ) Y AT TFT SHHT FTETOTHET FgaTcll o | 11 ST T FT gdait F gary Yiaifvaa fmar sm
HHAT § | I FAFIHASH AT &) THR & JIA® 3o FIA ¢ | [V FAf Foreter & IRomreasy
3cqee gt aTel ST JTAIAF AR 9 G 81 ¢ 7T UG FFEA (Pure line) FFATA B |

1,10, 11

2)1,11,1V

3) I, 11, IV

41,101, 1V

Ques # :50

The probability that a male inherited his Y chromosome from his maternal grand father is
1) 100%

2) 50%

3) 25%

4) 0%

farelt X 3 A AT Y I[OTHA Yred FIeA Y WiAFHAT gfcrera g -
1) 100%

2) 50%

3) 25%

4) 0%

Ques # :51

The most common cause of base substitution resulting into mutation is :
1) Base inversion

2) Base deletion

3) Tautomeric shifts

4) Error in mitotic division

8T YAEATYeT T Falfs AT FROT forad Scaitada ayar e, ¥ :
D e gfaes=

2) TR Taelteret

3) efeAR RIve (Teaad) TR

4)14#@\317%34131?[3?3%

Ques # :52

The interchange of parts between non-homologous chromosomes is called :
1) Inversion

2) Deletion

3) Duplication

4) Translocation

AleT QAT VAT & HET Ierdh 71N 1 AT Fgorar g :
1)
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EIGEIEC
2) faoireeT
3) a:%g;m;_'-
4) FATATAROT

Ques # :53

Match the List | with List Il and select the correct answer
fromthe codes given below :

List | List I

|. Monosomic A_One chromosome extra to the normal complement

[l. Nullisomic B. One chromosome less than the normal complement

lll. Trisomic C. One chromosome pair extra to the normal complement
V. Tetrasomic D. One chromosome pair less than the normal complement
1) A,C,B,D

2) B,D,A,C

3) D,B,A,C
4) C,A,D,B

T | 3R &= 1 @ fEew fifse g A Tl o e
T FerFdr ¥ Tl 3 =T |

Sl SRl

| FAETAE (A) THT G AORGE A Uh AR IO

|| FeiraifAw (B) €T Tk U H UH IO I HAT

Il grsafas (C) TAT ek TR A U ST FidReEd o
IV eerEias (D) WA YIeh AUMEHAT H Teh SAIST 0T Al T HAT
1) A,C,B,D

2) B,D,A,C

3) D,B,A,C

4) C,A,D,B

Ques # :54

Given the gene sequence ABCDE crossing over should occur most frequently between :

1) A-E
2) A-D
3) A-C
4) A-B

few 7 et reTFA ABCDE & 3R Sfiet Rforsrar s \rey gher onfed
)A-E
2)A-D
3)A-C
4)A-B

Ques # :55

Can a male be a carrier for a sex linked disease ?

1) Yes, if the mother & father of the male were carriers
2) No, males have only a single copy of sex linked genes
3) Yes, if the trait is recessive

4) Cannot be predicted

FIT T X T Ggodat U9 & AT agF Y ATt 8 2
D) gt , afe 38 A1ar ar &t ages &
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2) €T, A 3 TI9T GEeasT Sl T el Th ST A T & |
3) gf , afe faeroard (waTor) 3T 8y |
#) qaleTHTeT STET ST ST HeheT |

Ques # :56

In which situation would you expect the mutation frequency to increase over time :
1) The deleterious effect of mutation is balanced with the mutation rate

2) A lethal allele is created at a high rate of mutation

3) A neutral allele is created at low rate of mutation

4) None of these

pherelt aRRUTY 3 37 3ovfiE 1 3 SeaRadar HTafy W & Fnor aed & 2
D) seqfiader 1 arde 9a1a 3caRads e & T ST I ¥ |

2) U °Tdeh 3TelTel 3T IRad & IR 3cTe=T gl § |

3) Teh 3TN 3Teliel S 3caRade &1 T 3cdeal BlaT & |

4) go13] | 1S LT |

Ques # :57

Cells which are used for Karyotyping in an adult are usually
1) White blood cells

2) Red blood cells

3) Epithelial (skin) cells

4) Nerve cells

el aoew & FRAeERT & v HRFT St aweaa wgFa FRET ad
1) o9 o SOt

2) SITeT ToFd ShiTTehTd

3) 3Yehell (ca<iT) FITRAHTT
4) Gfe FIfRIET

Ques # :58

Which of the following statements regarding Down's Syndrome are correct : I. Mental retardation I1. Wide
round face III. Thick tongue IV. Caused by trisomy of chromosome 22

DHI,I, IV
2)1,11, 111
31,1, IV
HT, I, IV

33+ fAe31A & TogsT & FIT T FUT G ¢ | | ATAS FAgar [ Tis1 ey I LI AT s v 22
oy H gAY (Bepforam g & wror

DI, 1V

2)1,11, I

3) 1,10, 1V

411,10, IV

Ques # :59

Polyploidy may arise by several ways . Which of the following cannot produce polypolidy ?
1) Egg may be fertilized by more than one sperm
2) There may be failure of mitosis
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3) Triploids may arise as a result of fertilization of unreduced gametes
4) Auto tetraploid may arise by fertilization between two haploid gametes

TGO 8 e § SeTewt ¥ § | et F @ ey w1 g e sevee ¢t A W 2
1) 3ier, v § 3t et & R g awar g |
2>mﬁmw$maﬁﬁ|

3) reT3roated gawet & fvae & aRome Tawd ey seaeet e

%) 3rfOrer Feaent 3 TSt g1 & FROT TaaE O 3edet 8 TRt § |

Ques # :60

A woman with one gene for haemophilia and one gene for colour blindness on one of the X chromosomes
marries a normal man . How will the progeny be ?

1) 50% haemophilic and colour blind sons and 50% normal sons

2) 50% haemophilic colour blind sons and 50% colour blind daughters
3) Haemophilic and colour blind daughters

4) All sons & daughters are haemophilic and colour blind

v Ay forw & Rl v X Iored W v ferdifoa qut v garterar fr i suftaa € 5w
AT 1 faaTe v WA S Fa & WY giaT ¢ ot ot S gl 2

1) 509 grArdifera , quiter g FaT 50% VAT T3

2) 50% grerifre quiter O a24T 50% Fuiter gy

3) S qe aufier af

%) g3 g3 3R gt Sedifer qar qute

Ques # :61

An individual with an XXY chromosomal complement in humans will develop as :
1) Male

2) Female

3) Hermaphrodite

4) Individual with no secondary sexual characteristics

HTST A XXY GIF IO qTell STt fasfaes gar -
Dawa

2) arer

3) zarafertr &

4) Qo g foras gfacae Afiie oe1or #1dt ar ST 8y |

Ques # :62

The recessive genes located on X chromosome in human are expressed :
1) In 25% females

2) In 50% males 50% females

3) Only in males

4) Only in females

3yt Siter, S AT & X oA W ua § affeaaa et -
1) 259 Arer &

2) 50% AT AT 50% H1eT 7

3) raa T H

4) el ATGT H
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Ques # :63

The prevention and treatment of diseases through methods like , germ line therapy , genetic testing is known
as:

1) Pro eugenics

2) Reverse genetics
3) Positive eugenics
4) Negative eugenics

R AT A TS TUT ST STt STHaTST N, FfAfes efecer S [t F ATegm Fgarg a
Ig FgAaT g :

D ot aiferers (99 - goretfardn )

2) gfaaiter snegaifRrh (Raw awfea)

3) eretTer s ottt aae

4) FHoTTeres Foaraa e

Ques # :64

The negative eugenics attempts to eliminate the defective germplasm from the society. Which of the follwoing
method is NOT adopted for this ?

1) Sterilization

2) Control of immigration

3) Early marriage of those having desirable traits
4) Sexual separation of the defective

RONCAS YATAFH & IRT @IS SNagd ) FATT g AT AFATY | 30 e e F d slaan
81T TG AT FATeT ?

1) searertor & garr

2) 3myarae H fFEREa

3) qifsa TIwam3it arer urforaY @1 2fver fyarg ek

4) Yot A Y ARH T Y TUF R |

Ques # :65

If a first generation sequencing method for de nove sequencing
15 used. Which of the following template will give optimum results ?

1) Bacterial artificial chromosome
2) Plasmid DNA

3) PCR product

4) Genomic DNA

g B dal sgeaot & [e gum O sregwavr @3 soas andr §
ar o § ¥ laar crgeie gafad oione 29w ?

) i g TR

2)  cafeAsfiTan.

3 W #EIR 3cue

D s ST

Ques # :66

Which statement is NOT correct regarding REPL and RAPD ?
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1) Species specific primers are required for RAPD
2) RFLP is more reliable than RAPD
3) As compared to RFLP , RAPD is a quicker method
4) In RAPD radio active probes are not required

RFLP T4T RAPD & Heg3T # Sl AT HYA I ¢ 2
1) RAPD & fordr anifay fafrse grsas snf@a g & |
2) RAPD & =TT # RFLP 31t faaasir gy & |
3) RFLP &Y et 3 RAPD 31fers aat ufthar § |
4) RAPD # YfzaIufFea oie 3nfaid A e ¥ |

Ques # :67

The gene transfer technique which involves the use of a fatty bubble to carry a gene into a somatic cell is :
1) Micro injection

2) Particle bombardment

3) Electroporation

4) Liposome transfer

et SeT FTeTiaRoT RafRY it Rt 1T HYRIGT 3 Sher Y o STt 5 Forw s qorepelt 1 enfaver
ATE, -

D) wrgsr Sarereret

2) oy gAY

Ques # :68

The ¢cDNA library consists of :

1) A database of gene sequences from an organism's genome
2) A catalog of commercially available DNA probes

3) A collection of vector DNA cleaved by restriction nuclease
4) A collection of closed DNA fragments in a vertor system

cDNA TSI #H gl ¢ -

D) ue Shet St & wrea st 37e]shH T STETd

2) cHaaTfs diR W 3TeeY DNA Sed &1 g

3) aTgeh DNA ST HIGUT foreTent YIRgeheret =g SFeTust & TETIar & ar Sier &
%) ue aTEe o7 H FlleT 3 I DNA TahsT &1 HIgoT

Ques # :69

Which of the following are used to select genes of interest from a genomic library ?
1) Gene targetes

2) DNA probes

3) Cloning vectors

4) Restriction enzymes

forst & @ frwreht 39T 3 SAAAF argadl F F FRFT A F Gar ST gharg 2
1) 3e1 griiereT (erete)

2) DNA 0

3) Foifeier argen
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4) e vamsFg

Ques # :70

What extra sequences are found in expression vectors that are NOT found in typical cloning vectors ?
1) Replication origins

2) Sites for restriction nuclease cleavage

3) Selectable markers like antibiotic resistance

4) Sequences that direct the production of large quantities of protein

Fffreafad ags & it sfaReFa sregFa arft selt § S ot Fefarer arge! 7 w8 g 2
D gfaepfer 35

2) Yegaere wgsheled fagere & fow Tge

3) oY T T S wferaf gfeRred

4) 3TTsha ToTeTd IETT T 37TRIeh H&AT ol ScdTee! Blcll &

Ques # :71

How many potential open reading frames are present in a DNA sequence ?
1) One

2) Three

3) Six

4) More than six

U DNA I H fhda Wi rargd goa b SuRRAd eI 8 ?
1) v

) Ra

3)@:

4)?5:?!3-1'@33

Ques # :72

The vectors commonly need for sequencing human genome are :-
1) YAC (yeast artificial chromosome)

2) Plasmid

3) CMV vectors

4) M13 vectors

AT SN IHTHATT & AT YIT: 3T F AT 1 ey aneeh @ -

D YAC (dree 3 org)
2) canfens

3) cMV argeh

4) M13 argsh

Ques # :73

A DNA finger printing process involves :
1) Chain terminators

2) Degenerated oligonucleotides

3) VNTR loci

4) RFLPs

DNA IR Rfeer &Y ufgear & enfAar @ar @ -
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D) siwger gaTIH
2) sscert SN FeiTEEa
3) VNTR 2117 (loci)
4) RFLPs

Ques # :74

The secondary structure of RNA molecules :

1) Does not have an impact on function of the molecule

2) Depends on complimentary base-pairing

3) Can be described as interactions between portions of the back bone of the molecule
4) Is generated by covalent bonding between sections of the RNA molecule

RNA 3797 $Y gfadIas ¥ :

1) 31071 % 1 O IS TG ET T@A

2) g7 &7 - gel oY AR I

3) HUIﬁa?WW?@Hm(interaction)*maﬁﬁmmmg
4) RNA 3707 & TaT & T qetet aTel HEHAIeTs et & 3ot Bl &

Ques # 75

Which of the following statement about the isoelectric focussing is correct ?

1) Proteins separated by isoelectric focussing can be tested for biological activity

2) Proteins separated by isoelectric focussing cannot be tested for biological activity
3) The separation of proteins by isoelectric focussing is only based on size

4) The separation of protein by isoelectric focussing is only based on charge

rfaf@a # @ ssasdFcs RaRTF e A sl T Faa Tdi 8 2
D) smsaigai@es By & caRT it Wi e HY S §, 30 Sifas st & fow Siar s @war g

|
2) 3TgES e Biehd & SaRT St M U HY S § , 3¢ Sfash Thansit & fore ¢t sar s

HhT |
3) 3TsHISATFeh Behd & SaRT ST NENT HT TUFHIUT Shdol SoTeh IR R FIR AT |
4) TsEScITree tBiehd & SaNT WIEeT T TUFHIUT halol Seleh ALY TR IR T ¥ |

Ques # :76

The equilibrium method that can be used to accurately determine DNA-protein dissociation constants is :
1) Site directed mutagenesis

2) Foot printing

3) EMSA (Electrophoretic mobility shift assay)

4) Chromatin Immunoprecipitation

DNA W& faatsrer faadis & vahgH s aig @ RuiRa & & forw i @ agaeyr {fe
T fRAT ST g § 2

D) worer AfEse scaRadere=

2) gz Riféer

3) EMSA (SoleeImR s Afafard Rive )

) AT srgAfafR e

Ques # :77
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Isolation of RNA is difficult due to its ability to degrade quickly . What is the main reason for RNA being
unstable ?

1) Presence of RNAse

2) Negative charge of RNA

3) Single stranded nature of RNA

4) Stability of RNA at high temperature

RNA FT TUFHI0T F ST §1el1 § FNF $H F7 3/ A0T clierelt F 1T & | RNA F7 3EAT$ gt 7 09
FROTFATE ?

1) RNAse &7 3ufeafa

2) RNA T ROTcH AT

3) RNA & 0 a1 uapfar

4) 31f®rer a9 T RNA & E1Rica

Ques # :78

Which process is used in an expression vector to increase yield of recombinant protein synthesis :
1) Translation intiation

2) Transcription terminators

3) Promotor induction

4) Multiple cloning sites

YAGITNT FIET HRAYOT Y 39S qel & fAT fFcafad ags o sladt R s fradr @ 2
1)31a3q|<:\o1 39hH / IRFH

2) 3FeTeleT FHTIS

3) grcaTgesh SROT

4)a§a—?»nﬁﬁ1:21?»r

Ques # :79

Which digestive juice does not contain an enzyme to digest the food stuffs ?
1) Pancreatic juice

2) Bile juice

3) Saliva

4) Gastric juice

FieT AT g T ¥AT § A vasH IR @ 3R @rer verdt F qarar g g 2
1) sresrerh w0

) RAea™

3) ot

4) AT T

Ques # :80

Which of the following are correctly matched : 1. Gastrin - stimulates the secretion of gastric juice II.
Enterogastrone - stimulates the secretion of intestinal juice III. Cholecystokinin - stimulates the secretion of
bile juice in liver IV. Enterocrinin - stimulates the secretion of succus entericus

1) Tand IV
2) Tand III
3) Tand II

4) I and III
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e & O Sl A T & 2 1 AR - Tt T & T F1 3ZERT FIar§ | 11 teearee i -

I T & T A 3RS FIar 8 | 11 FrehfAeF A - a5a & Red W@ & w9 #1 iy
FIAT R | IV TR AT - T0H tdihy & T 1 sfgRa s |

D 13w

2) 19

3 13n

Y e

Ques # :81

Intrinsic factor is present in which of the following digestive juice :
1) Saliva

2) Gastric juice

3) Bile juice

4) Pancreatic juice

TR (s FRE et & ¥ Flad oras W A suRT T |
Dar#

2) ST @ H

3) Rea @

) AR @ &

Ques # :82

What will happen if the human blood becomes acidic ?
1) RBC count will decrease

2) RBC count will increase

3) Oxygen carrying capacity of haemoglobin decrease
4) Oxygen carrying capacity of haemoglobin increase

A AT 1 AT 35er 8 I &t /= gham 2

1) et Toa ST01RI31Y Y G&IT A &) Shust

2) SITeT Tl SHTOThI3A Sl AT 56 STl

3) EATATSeT Sl el agsT &THdT e &Y SITTen
) SreTeNTae hr ATerieTe aget &THT 8¢ Sual

Ques # :83

Reabsorption from the thick segment of ascending limb of Henle's loop is by:
1) Osmosis

2) Simple diffusion

3) Facilitated diffusion

4) Active transport

ool O[T Y IRIEY 3T & TYA AT TAHTAMOT YT &
D) qreRor g@rr

2) w¥et faeRoT ganT

3) geTe faeoT garT

4) T FTAITHA GaRT

Ques # :84
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In most instances of Erythroblastosis foetalis :

D The mother is Rh™®,the father is Rh™*® and foetus is Rh™
2) The mother is Rh™ the father is Rh™® and foetus is Rh™®
3) The mother is Rh™ the father is Rh™*® and foetus is Rh™®

4) The mother is Rh™.the father is Rh™ and foetus is Rh™

sRYeaFIfaw ARefaw d

1) #mar R, far Rh™ qar sor Rh™ gt §

2) \rar Rh®,far Rh™ @ o1 Rh™° gir §
3) mrar Rh™%,faar Rh™® @ sor Rh™ g &

4) ATar Rh™,far Rh™ @r o1 Rh™ gt §

Ques # :85

At the time of tissue infection , what type of WBC is first attracted from the blood into the tissue by process of
chemotaxis :

1) Eosinophils
2) Basophils

3) Neutrophils
4) Monocytes

FAF WHACT & AT, T IeJaeret Y 9fnam & anT fFa &R r WBC ¥ad 9o T @
Fawr  agaeh ¥ |

D) sanfasifred

2) SefhorE

3) g ifiew

4) ArraTses

Ques # :86

What is the correct sequence for the passage of impulse of heart beat ?

1) S.A node—wS.V. nodewBundle of his— Purkinjae fibres— Heart muscles
2) 5.A node—+wAV. nodewBundle of his— Purkinjze fibres— Heart muscles
3) 5V. node—5 V. nodewBundle of his— Purkinjae fibres— Heart muscles

4) SV. node—+5.A nodesBundle of his— Purkinjae fibres—» Heart muscles

$GT TG & FHY LA Y 7T T FleT AT IHTHA TAHE 2

1) SA #is»S.V. dls» &g WE—&W ded— 50T qiferar
2)S.A A5 »AV. A5 » T FHg— Rihesl ded— 58T CHEIE
3) s.V. A5 —»S.V. dAs » &H GHg— Wicheol ded— 56T aiferar
4) s.V. Az S.A. A5 —» BF WE—PW ded—» &G aifsrar

Ques # :87

Blood clotting is a chain reaction in which a number of factors are involved . Which of the following factor is
NOT correctly matched :

1) Factor I - fibrinogen

2) Factor III - thromboplastin
3) Factor V - stable factor

4) Factor IX - christmas factor
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1R Fheet U e 3TARRAT ¥ SEH 7€ FRE nfAed ¥ | e d @ a1 FRe 7@ A
e |

D) e 1 - wrefserer

2) &R 11 - PFacaieds

3) FRF 111 - TS FRF

1) FRF IV - ohaH T FRE

Ques # :88

What is the first step in the transfer of energy when it is derived from creatine phosphate to cause muscle
contraction ?

1) The energy of creatine phosphate is used to convert ADP into ATP
2) The creatine phosphate cause the power stroke of the cross-bridge
3) The creatine phosphate transfers its energy to the myosin filament
4) The creatine phosphate forms the actomyosin - ATP complex

Ui HFIT F THAY FolT FAATAROT T T TIOT HleT {1 § 5 Fhufeer wrebe garT Sedet
graTe ?

D) frufeet wrethe i 3917, ADP & ATP # aRafda #tet T i didl & |

2) fepufest Brethe shid fsrel o ot el ¥ |
3>me@rmm@aa§3ﬂaﬁmﬁmm%|

4) fepufest Brethe el AR - ATP STy a1 § |

Ques # :89

When the length of the muscle remains constant but the tension increases sharply and no mechanical work is
done , this is known as :

1) Tetanus

2) Muscle fatigue

3) Isometric contraction
4) Isotonic contraction

o Geft Y TFarS A W@elt 8, e dora dlterar § dgat ¢ 3 F1 F1 7@ Far s g, 7@
FEATATE |

D) Reesrw

2) ey sfed

3) JTEHATE HEa

4) srsHifaE s

Ques # :90

Sarcomere is the structural and functional unit of myofibrils which consists of :
1) I band in the middle with halves of two A bands on its sides

2) One A band and One I band

3) A band in the middle with halves of two I bands on its two sides

4) Two A bands and Two I bands

ATHIAI , ARG Y GTATcHE auT Fareds sFS TN T g & |
D) a1t o el 3 U A S F aru v [ Fs AvT |

us AdsauTH ST T

3) gt O e A sufea IS F aw TH A 3
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DeraAdsaarerid= g

Ques # 91

During conduction of an impulse, electric potential on the inside of axolemma changes from
1) Negative to positive and again negative

2) Negative to positive and remains positive

3) Positive to negative and again positive

4) Positive to negative and remains negative

ATeT AT & FageT & vFArAT & Hadt 3R farege - Ryeorg aRafda gar ¥ |
1) RoterAs & aetcrs aur qel: HUTcHS

2) KOTcHS § UATcHS dUT UsTlcHS &Y TEaT g

3) TR § FOTCHS JAUT T: UATcHSE

4) TATcH U RHUTcHS dUT HUNcHS &1 gdT &

Ques # :92

In a reflex action afferent nerve fibres conduct impulses from :
1) Receptors to effectors

2) Effectors to receptors

3) Receptors to CNS

4) CNS to effectors

ot sferrelt fver o rfBvadh difienT ceg AT A AT R
1) Harmges & gard 3790 G

2) gardY 3190 @ g Jh

3) Fammgeh ¥ CNS

4) CNS & gHTEY 3790 T

Ques # :93

The cells responsible for colour vision in vertebrates are :
1) Bipolar cells

2) Ependymal cells

3) Rod cells

4) Cone cells

FATAA F 11 2% & fAT Scaer ARAST AN T |
D) gfaerdrr sifRrand

2) e cIgerel HITRARTT

3) 53 (I3) FfAET

4) 2iep (IeT) AT

Ques # :94

Thymus in infant mammals is mainly concerned with :
1) Regulation of body growth

2) Immunological functions

3) Regulation of body temperature

4) Control metabolism
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fRrey Fafor & ursHE THE w9 F ERT AT |
1) oriRes g 3 forerster o
2) gfareia sraf & fow
3) eI a9 o s & fow
4) Furg=ry & AT

Ques # :95

Both organs of which set do NOT secrete hormones -
1) Stomach and thyroid

2) Intestine and pancreas

3) Spleen and liver

4) Stomach and spleen

39 &1 98 THE ot F1$ off grAfer wfae et e |
1) smemery 3R arstsE

2) 3117 3R 3R

3) eleT 3R TFa

4) 3T 3R coligr

Ques # :96

Gluco-corticoids sercreted from adrenal glands cause -

1) Increse in protein and fat synthesis

2) Decrease in protein and fat synthesis

3) Increase in protein synthesis and decrease in fat synthesis
4) Decrease in protein synthesis and increase in fat synthesis

e AT { TS 1 AT TR IRIEHISS -

1) iréter 31T T EeaoT o gRy A

2) QY& 3T g ERONUT H FA A Y |

3) ST TeAWoT 7 Y AT T HRATOT I FHH FA ¢ |
4) GrEreT FRRITuT 3 AT FAT FAT HRAYOT H Y A ¢ |

Ques # :97

Which of the following is NOT correctly matched :
1) Hyposmia - reduction of sense of smell

2) Dysgeusia - absence of sense of touch

3) Anopia - complete loss of visual field in an eye
4) Tinnitus - ringing sensation in ears

s & & e 71 worp gARRT At E -

D) greaifesar - gae 3 aver F o

2) A T - Tt A Y JaReuta

3) T - JifEt & fowrs & arer &t < qut arfay
4) fReesticH - F1elt 7 SIeTgTeTge AT 6t GoArs &

Ques # :98

Which hormone is present in the urine of a pregnant women ?
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1) Progesterone
2) Follicle Stimulating Hormone ( FSH )
3) Estrogen
4) Human Chorionic Gonadotropin Hormone

efaeht &t & 7 # Fl a1 glat suRua glar g 2
D) drsregrer

2) qfeehT 3R giAfT (FSH)

3)13@3';[

4) e SR MR glfer

Ques # :99

If the value of variance is 64 , then the value of standard deviation would be ?
1) 4096

2) 8

3) 65

4) 64

IS IHIT 64 § A AT faaereT e 2
1) 4096

2) 8

3) 65

4) 64

Ques # :100

The standard deviation of the given data 10,10 ,10,10,10 s :
1) 1

2) 10

3) 0.1

4) 0

¥ I data F1 #AFS R AT HfFT|10,10,10,10, 10
1

2) 10

3) 0.1

4) 0

Ques # :101

The formula to calculate Df in two samples by t-test is :
D Df = (row - 1) (column - 1)

2) Df = Ny + Ny - 2

3)DT:1—N1 + N>

4)Df = Ny + Ny + 2

ar @A H t - TNETOT A Df AT FA FTHAE -
1) Df = (@f@Fa - 1) (&g - 1)

2) Df = Ny + Ny - 2

3) Df = 1- Ny + Ny

4) Df = Ny + Ny + 2

Ques # :102
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A researcher selects a probability sample of 100 out of the total population . This is an example of :
1) A systematic sample
2) A cluster sample
3) A stratified sample
4) A random sample

UF MUFAT F Fel JTATEr H A 100 WTRAFAT F1 79771 foram | I 3em0r 8 :
D) safeya seam

2) wag A

3) T A

4) arefeos (Yvsa ) 73T

Ques # :103

The height of five students in cms is 165, 170, 142 , 174 , 148 . What is the median ?
1) 142
2) 148
3) 165
4) 174

Rrenfiat i 39 @ &) AT yER TR 165, 170, 142, 174, 148 . ATCIHT F4AT 19T 2
1) 142
2) 148
3) 165
4) 174

Ques # :104

The mean of a sample is :

1) Always smaller than the mean of the population

2) Always equal to the mean of the population

3) Calculated by summing all the data values and dividing the sum by the number of items
4) Calculated by summing the data values and dividing the sum by (n-1)

farelt oft sorer FT ATET BT B -

D) g wog Faeg a o

2) géa g & AT & R

3) gt 31T AT T NS 3R 37 AT F Fool TEAT Y FAHATA et T 10 A1H
4) @sf 3TeT FedT TSNS T2T (n - 1) SIRT ST [FHTTT

Ques # :105

The values of correlation coefficient between two variables lie between :
1)-1and 1

2)0and 1

3) Dand o

4) -geand+o

HEHE I[UTIS HT AT fFT aF TRacTerelier a0 & Aeq gran @ -
D 13k

2031

3) 03t o
4) -a3iR+a
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Ques # :106

Which is the first Inmunoglobulin class to be produced in a primary response to an antigen.

1) IgG

2) IgE

3)  IgA

4) IgM

qgT SFgeRalae gt At fF ufcsrer S afafhar & wavasq scqeT g g |
1) IgG

2) IgE

3) IgA

4) IgM

Ques # :107

Which of the following is not the correctly matched pair of structure with functions ?
1) Mitochondria : ATP production

2) Golgi body : Breakdown of complex molecules

3) Chloroplast : Photosynthesis

4) Endoplasmic reticulum : Synthesis of proteins

et & I A1 I T v FE & I FATRT AT 2
1) Arscieifzar : ATP &1 3cureat

2) avesft i : SAfeeT 3ToT3 &1 feresT

3) gRaeras ; YehTer H2owuT

4) 377 ey ST : YT HRAroT

Ques # :108

Carbohydrates are characterized by having which of the following functional groups ?
1) Carbonyl and methyl

2) Sulthydryl and phosphate

3) Carbonyl and hydroxyl

4) Hydroxyl and amino

Frafgrsse Prafaf@a & ¥ fre Brarens gl garr aRef@a g # 2
D) wrefarger g g

2) FomgTSiEe a HIEhe

3) Frefarse T gregiFad

4) grsgiae q 3=

Ques # :109

Which of the following does not act as second messenger during signalling process :
1) Diacyl Glycerol

2) Calcium lons

3) Magnesium lons

4) Cyclic Adenosine Monophosphate

e & & *i a1 Fhae uihar # g aeeerares w1 w1 A FATd |
D) z1$ vfter Ferrier

2) &feRrTH 3T

3) FashiiRrere smae
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4) e T AT Brehe

Ques # :110

Electron microscope forms image by using -
1) Ultra violet rays

2) Infra red rays

3) Ordinary light

4) Beam of electrons

golFeTe qaAee! $HHT STAT I ST FAATE -
1) sreer arrere favol

2) g3hr Y3 faneot

3) ETEIROT Tehrer

%) gorerciaT o

Ques # :111

Which of the following acts as connecting link between Kreb's cycle and EMP pathway .
1) Phosphoenol pyruvate

2) Ribulose biphosphate

3) Pyruvic acid

4) Acetyl CoA

P AdsFsar . tA. V. ouFda s NFAgArg |
D) drepigale qewde

2) e g

3) qrewiae 3+

4) uf AR s FseaSH - T

Ques # :112

In "Retroviruses" the genetic material is -
1) RNA

2) DNA

3) Ribosome

4) Golgi body

D3R .o, @
. uA.T
3) g
1) e

Ques # :113

The site of origin of replication usually contains -
1) A-T rich Sequences

2) G-C rich Sequences

3) Both A-T and G-C Sequences

4) No particular stretch of Sequences
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yfafa & 3eaa Tua # v suRYd A § -
D v & sgr srgsa
2) S - & TG A
3w &g sh - @ agat At g
4) 3repgratt 1 08 TARISE el 747 |

Ques # :114

Which of the following number of chromosomes are Acrocentric in human beings.

1)12, 11 and 13
2)10,12 and 13
3)13, 14 and 15
4)11,10 and 15

HTST A faeT & & et W TEa & o vrrifew ¢ |
D12, 11513
2)10,12Td 13
3) 13,14 T4 15
D11,10Td 15

Ques # :115

Restriction enzymes are related with -
1) Synthesis of ATP

2) Synthesis of RNA

3) Synthesis of DNA

4) Breaking of DNA at certain places

WRFUAT TATSH T GFaey ¥ |

1) ATP & @eowor &

2) RNA & G2a9oT 9

3) DNA & H2I90T ¥

4) DNA &l Sfaug T o @l F diga &

Ques # :116

Proteins that are to be used outside the cell , are Synthesized .
1) On ribosomes

2) In the mitochondria

3) On the rough endoplasmic reticulum

4) On the smooth endoplasmic reticulum

a8 N FoeTahT 3R FART F TET BT E, SART TRAVT AT | |
D seam

2) Argermifogar

3) weT 3iT: TgeT STforehT W

4)1%|W34’Fr:qa?d‘raﬁ$rw

Ques # :117

Which of the follwoing enzyme repairs the gaps in DNA ?
1) Ligase
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2) Lipase
3) Aldolase
4) Hexokinase

31 Ol . . & JHarer ¥ gifaqfet et w1 e wvar e 2
1)(—,”331\—,[

2) rster

3) egterst

4) gerarTseST

Ques # :118

Which of the following second messengers can stimulate a mammalian cell to become a cancer cell.

D ca®*

2) Cyclic AMP
3) Oncogene
4) PIP;

g ¥ FlT H1 gRANTF TEATESH FATart FIRAFT3HT F FowT PRFIT T4 7 IART FT R |
1) ca®*
2) Thr’T AMP

3) atraieT
4) PIPg

Ques # :119

What is the method used for establishing linear relationship between two variables ?
1) Chi-Square test

2) t-Test

3) ANOVA

4) Regression analysis

2t TRY & Few YT wewa T e & e St o Ry wrr o ot ¥
D) &g gat odyator

2) ¢ - o raoT

3) wATaT (ANOVA)

4) gfgerseT Ragersor

Ques # :120

Which of the following is not an antigen presenting cell ?
1) T-lymphocyte

2) B-lymphocyte

3) Dendritic cell

4) Macrophage

foreer & & ey ot fAFT wirer grgfar FRAFT AE 2 2
D T . fowwarse

2) B - foFwrarse

3) arzuefes R

%) gga HaTHIo]
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Ques # :121

Hypothyroidism in childhood leads to -
1) Cretinism

2) Addison's disease

3) Sterility

4) Myxodema

Ol H gSUYRRIETH & FRUTEATR |
D) sfefass

2) ufgqst T

3) gegar

1) AeaEEr

Ques # :122

The correct sequence of urea formation in Ornithine cycle is :-
1) Ornithine , Arginine , Citruline

2) Ornithine , Citruline , Arginine

3) Ornithine , Urinine , Arginine

4) Ornithine , Arginine , Urinine

FitfetefeT e 3 R fovator 1 W T -
1) 3iifefeer, 3fieeT , Rigforet
2) 3itfieler, Ragforet , 3nfefeher
3) 3itfeteler, fiefieT , 3nfeteer
4) 3itfteer , 3feteher , g er

Ques # :123

The discipline that applies recombinant DNA , DNA Sequencing methods and bioinformatics to sequence ,
assemble and analyze the function and structure of genomes is called .

1) Gene amplification
2) Genomics

3) Proteomix

4) Gene therapy

g6 819 S JIARTST 3. Uo7 . €., Y. Ut . U HeTsharoT fa et v ariigewmrifeay &1 srepwater Sfiater
& T T3 HTEAT F HAHIAT , G aUT AeAfa Fward, seaman s |

D 3ot sradier

2) Shenfaera

3) sifesnfaea

4) SfteT el

Ques # :124

In cellular respiration , which of the following processes occur only inside mitochondria and not in the
cytoplasm ?

1) Glycolysis and pentose - phosphate pathway

2) Glycolysis and citric acid cycle

3) The citric acid cycle and oxidative phosphorylation

4) Glycolysis and oxidative phosphorylation
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PP 270 H A7 F ¥ P - ¥ ThA A ABARIRPAT F MR TFUT T &, FRAFrgeT &
ool |

D) semgenfafaa 3ik deerd - wiethe afe

2) s fafad g ARt® 3Fd T

3) faRte 3ea 9% T 3T BrEdReeoT

1) TSR g ATeraefed BrepIReenor

Ques # :125

In a sample of DNA , analysis of its base composition showed that the proportion of A-G was not equal to T-C
. Hence , this DNA is -

1) Double Stranded DNA
2) Single Stranded DNA
3) Mutated DNA

4) DNA from a cancer cell

TF 1. Ol . U & AHA & &TRF TS HT [3RelYor F:a W ST fr v - A w1 aqqura & - dfr &
TR AT &, 3qF TNUTH T Te N TA TR -

D) gfaRreodr 2. T, T.

2) T o . T T

3) scaRafda @ vt . v,

4) FrER FIRFTH L. T . T

Ques # :126

The enzyme responsible for generation of Inositol 1, 4, 5 triphosphate in cell is :-
1) Protein Kinase - C

2) Phospholipase - C

3) Phospholipase —A;

4) Sphingomyelinase

FITRABIIHT F 3ATACIA 1, 4, 5 TBHIEPHE HT 3cUTGA FIol F [T ScGHIT TeallsH § :-
D) e rgarer - 2

2) wrEpraTeaST @Y

3) BIEPIEIT T- 2

4) RepeamATS AT

Ques # :127

"pH" of lysozyme is maintained by .
1) Proton pump

2) Sodium pump

3) Calcium pump

4) Chloride pump

ATSHISTSH T pH TR fFam SIrar |
1) géer o g
2) @fEe 99 ganT

3) foRIIA UY aRT
4)
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FARISS 99 GaRI

Ques # :128

Copper is associated with which of the following mitochondrial enzymes ?
1) Cytochrome oxidase

2) Succinate dehydrogenase

3) Catalase

4) Acid phosphatase

die &1 ey fArafaf@a # @ fF9 AdsIiga tasa g 2
1) argeie srfedseT

2) gerdiae Sersehaer

3) SreoraT

4) ufdg Hehesr

Ques # :129

Cancerous cells are destroyed by which of the following type of cells ?
1) Macrophages

2) NK cells (Natural Killer Cells)

3) Neutrophils

4) Eosinophils

eI RN PR F & B FIREt ggrrase framad § |
D) g s7aveRoT

2) T & FHIRAFTY (A Foell FRAHIY)

3) A fthed

1) s3Nfaafthred

Ques # :130

Choose the correct combination of molecular markers used in PCR based DNA amplification .
1) RFLP , AFLP and SSR
2) AFLP, SSR and RAPD
3) RFLP, RAPD and SSR
4) RAPD , RFLP and SSR

dt. &Y. 3. IreTRa St ver . v qaeieT 3 39T 7 707 ATHT WA FT W AqA hfY |
) ¥R v vl Y, T U vl ) U T UH 3N

2) TUH T f, TH TH R T AR TR

3) 3R Uh T U, 3R T Y &Y T TH U 3R

Y IR T, 3R TF T o v TH TH 3R

Ques # :131

pBR-322 and pBR-327 are examples of -
1) Plasmid cloning vector

2) Virus vector

3) Cosmid vector

4) Endonuclease vector
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pBR -322 U4 pBR - 327 30T § -
1) confoss selifior ags &
2) fawToy AT
3) P EAZ aeF &

4) UeslegfeelUol dTgeh &

Ques # :132

The 80s ribosomes of eukaryotes break into which of the following sub units?
1) 50s and 30s
2) 60s and 40s
3) 40s and 40s
4) 60s and 50s

80s T gl T H A f@a # & T susasa & AsFaaag?
1) 505 7 30s
2) 60s T 40s
3) 40s Tq 40s
4) 60s TF 50s

Ques # :133

Which enzyme is present in the F4 particle ?

1) Fumerase
2) Aconitase
3) Thiokinase
4) ATPase

F,&oTH FieT ar vasa 3ufeag gar ¢ ?
1) IS

) RS

3 gEAe

4) [yl

Ques # :134

Which of the following interaction plays a major role in stabilizing B-DNA ?
1) Hydrogen bond

2) Hydrophobic interaction

3) Vander waal's interaction

4) Ionic interaction

B - 3. To1. T & Turfieor # fveet F & ey W sree B v o fadger aelt e
1) gregioreT s=u

2) Srerefie 3=y R

3) areTsarel 1 3=Aeg T

4) 3 3 R

Ques # :135

The isotope used in the treatment of Grave's disease is .
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1) B0
2) p3z
3) 7131
4) 7123

AT H NATH FT 37AR FA H AT H AT A arer rsaeT g -

1) Cob?
2) p2

3) i3t
4) 1123

Ques # :136

In a DNA molecule , photo reactivation mechanism repairs :-
1) Purine dimers

2) Purine nucleotides

3) Pyrimidine nucleotides

4) Pyrimidine dimers

Y. UeT . U UL I wahTer qeT: Witharor B wfaqft wvch @ -
) codier srge

2) e Fg eSSy Y

3) Ui ~gfFeraiessa &

4) qr= QAT SsFG

Ques # :137

What is the important function of cadherins ?

1) Bind axon to muscle cell

2) Calcium independent molecules

3) Recognize and bind to molecules of the same type
4) Bind cells to extracellular matrix

F30 Req T Agcaqof FIE FATE 2

1) weraer &1 Ot mifRIer @ F3taTeT

2) Ffoere TadT 3]

3) HHATST TR & UL T T TS 37 AT
4) SITAHIIY T STETRITRARIT 3T T FArSTeT

Ques # :138

Which of the following statements regarding 't test' are correct ? I. A parametric test II. A non parametric
test II1. A test for comparing averages IV. A test for comparing variances

1)Iand IV
2) II and III
3)Mand IV
4) 1 and III

By o @ Fl @ AT & - 2 & wed F WA L 2 | 7w R aRarr § 11 7E A R
TRETOT § 111 3 T JolelT e HT TNETOT § TV THIOT T JolelT et T TNT0T &

Digwv

g
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uaiv
Y11

Ques # :139

In a distribution of2 ,4,6, 8, 10 the X is 6 , the sum of deviations from X will be :-

1) 3
2) 6
3) 12
4 0

2,4,6,8, 10 F AATOTH X =68, dY X ¥ 3= 21 aTel TA=reret gt :
1) 3
2) 6
3) 12
4) 0

Ques # :140

A chi-square test involves a set of counts called "expected counts'. What are expected counts :
1) The actual counts that occurred in the observed data

2) The long run counts that are expected if the observed counts are representative

3) Hypothetical counts that would occur if the alternative hypothesis were true

4) Hypothetical counts that would occur if the null hypothesis were true

$T$ T3t THNGTOT A TATRIT 3ehehl T Teh FHAG AT ¢ | TeATTRI 3iheh FATRIA & :-
D) areafaes s St 3Tl fhd THHT SaRT Jehe Bl § |

2) ErerepTolieT 37eheh ST FTITITRY 3Taellfehel 37ehehl & SaRT FeATRRIT 1 & |

3) gReTeuTee 3ieher ST dhToTe TRFETAT & T &1l WIHC BT & |

4) aRaTeafae 3iehe St Qe TRFETAT & T gled TN IHe g1 & |

Ques # :141

There are three girls in a room of ages four , five and six . If a five year old girl enters this room ;
1) the mean age will remain the same but the standard deviation will increase

2) the mean age will remain the same but the standard deviation will decrease

3) the mean age and standard deviation will stay the same

4) the mean age and standard deviation will increase

S FAY A it asfarar @ e g o, s ik e ¥ g | AR gw e fr s asfrsw Fay A
YA FIA § ¥ -

D) 3 3y ST Sl Tgeft oo AT faarelst §¢ SR |

2) 3 3T THATT Tt TRl ORe] HTeTeh Faeretst S gY ST |

3) 3Ad 3T FAT AT Faarelet GHATT a1 T |

4) 3traa T FAUT AT ATl 9¢ AR |

Ques # :142

The correlation coefficient computed for two parameters measured in 200 patients is 0.85 . This means that :
1) The two parameters are directly correlated and the link is strong

2) The two parameters are directly correlated and the link is weak

3) The two parameters are inversely correlated and the link is strong

4) There are too few cases and the coefficient value cannot be trusted
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200 AT F7 &Y wrardt F forw FerforT HewTaTy ONF 0.85 | FHFTHE P :
1) @Yt grerer wedret ®9 & Heaeaeud § Ud HFeaey ad § |

2) At ST SeTET T & HEAFS - § U FFGwY oo § |

3) gt grerer fAudia ¥ & Hegatoyd & U9 GFa- GUFd & |

4) feufaar sasht & § o Tedee auTies & Hed T faRard 78t ¥ dad |

Ques # :143

Match the List | of generation of computers with
the options in List Il correctly :

List | List Il
A_ | Generation [) Introduced micro programming
B. Il Generation Il) LANs & WANs were introduced
C_Ill Generation [} Usedthousands of vaccumtubes that emit large
amount of heat
D. IV Generation V) Based on artificial intelligence
E. V Generation V) Transistors were used in place of vaccum tubes

1) AdD,Bd,Cd),DV),EdV)
2) AN)),BdDH,COH,DD,EJdAV)
3) AdID,B(V),Cd,DdD,EdV)
4) AN),BdI),Cd),DdDn,E @

TN #F FAGR AAT S T & fdhed & T A fifadr

Seill el

(A) | SreAyer HIShT GIATHIT T URFH

(B) Il Svare LANS 3R WANS &1 gR=rar

(C) 1l SreAersT ERT TolaTd ATHHET &1 gder At Jiy #Er J
A9 IcHood Sh{dl AT

(D) IV Sravere $EA gefar @ 3maia

(E)V Sierere foraTa AfeiamEil & T 9 oifeieed & I
1) A(I),B(I),CD),D(V),E@V)
2) A(V),B{I),C(I),DD,E V)
3) AI),B(V),CI),Ddl,EIV)
4) A(N),BI),CdD),Ddn, E (@

Ques # :144

Computational biology involves : 1. application of computational simulation techniques to study biological ,
behavioural and social systems I1. Use of bioengineering to build computers III. Use of structure and function
of living organisms to design and engineer material and machines IV. to store and process biological data to
develop algorithms

1) Iand II
2) Iand IV
3) Tand I
4) 1l and IV

FFIEAA S FFATIT FIA § - 1 A, cyaeRe Tur TATSE Gl B eI F A
FFYLT HATANN FY | 11 FFII Tl & fdr Stagonfaafiar 1 397 | 111 Frefier 3 3wehr
ATATH T T 3R FBTST FI1 F oy hal F Tw=er 3 Frt F 39T # 1V vemRa7T &

AT w3 F O S ser: TRT T IRT FA 7|

1) Tand II
2) Tand IV

41/44



28/06/2016 College Lecturer Exam - Zoology-II

3) I and III
4) 1l and IV

Ques # :145

Which of the following piece of information would NOT be required for a computer program to determine
exon / intron structure of a gene ?

1) A table correlating codons to amino acids

2) Splice site signals for the species under study

3) The nucleotide sequence of the mRNA

4) None of these pieces of information would be required

ST & garaer / STer TR Y PR o & Fove vt o & qrermait & et & syrer Rt dhoapex
v & e sfaa A g 2

1) 37t 3ramoit 3 e T veier 81 el

2) 3T Y STTe aTel Tollfa) & TASH T2Ueil & Hichelieh

3) mRNA & wgHTIACISS & 3eTha

4) goTet & TRt of e ST JMaRT R AET §

Ques # :146

Computers use which of the following language to process data ?
1) Processing

2) Kilobyte

3) Binary

4) All of the above

Fogex FArfafa & & fra T &1 39T srer R & e aa § 2
D) grafar

2) fpeitaTse

3 graerd)

4) 3oRrera |

Ques # :147

Liquid Scintillation Spectrometry is based on -

1) Property of certain molecules to absorb some of the energy of an emitted particle and release it in the form of
light

2) Property of liquids to emit light

3) Measuring oscillations of molecules

4) Turning liquids into light

el TEPY Fﬂﬂ%}lﬁﬁ' ( Liquid Scintillation Spectrometry ) 3TenTRe g

D) e 31073t ganT TA1ad FoT Y 33T T 3TTAT T 3 FHT &5 T 7 FFd Lot 1 07
2) galf T gehTer T e T I0T

3) T3 & Eleled & HITA T

4) zat & gerrer F gRafdd S

Ques # :148

Given below is sample a portion of DNA strand giving the base sequence on the opposite strands - 5' -—--—-—--—--
GAATTC 3'3 CTTAAG-—---—-—-—-- 5' What is so special shown in it ?

1) Palindromic sequence of base pairs

2) Replication completed
42/44



28/06/2016 College Lecturer Exam - Zoology-II

3) Mutation
4) Start codon at the 5' end

A1 S U U AW F UF A F HIT & &TR H@olT g 3HH AT @A g g - 5' e

GAATTC 3'3 CTTAAG-----mmme- 5' 5 41 fuw fe@rm s g 2
D) &1 - S i faeltaadr s@er

2) gfaepfarevoT FFuT

3) seaads

4 5 fAY 9T URTAF et

Ques # :149

Match table A with table B and choose correct answer :

Table A Table B
a)pBR 322 1) EcoRT or Hind Il
b) Restriction enzyme i) Vector
¢} Polymerase chain reaction lii) Ligase
d) Construction of chiminc DNA Iv) DNA polymerase

1) a(I),b(D),cIV),d )
2) a(),bl),cl),dIV)
3) a(l),b(d),cV),d I
4) a(@V),b(),cD,d I

AT A doT I B &Y goier hifdv vaH, @ 3T giaw

g A g B

(a) pBR 322 (i) EcoRl or Hind II
(b) e vATSH (ii) amg

(c) diehaer s@en sfEfHar (iii) WS

(d) FEalE Soa.w & &Faor (iv) SLUAT. giela
1) a(lll),b(),cIV),d )
2) a(D),bD),c),dIv)
3) a(l),b(D),c(IV),d ()
4) a(dV),bdI),cdD),dd)

Ques # :150

The term Operating System means -

1) A act of programs which controls computer working

2) The way user operates the computer system

3) The Conversion of high level language to machine language
4) CPU

" 3T fEar ReeH" ug FT IS ¥ -

D) gammear 1 ek Teg i SHeeX BT HrITTTel I AR war g |

2) ag areRT Forash GaRT TAeTehdT Sheged RaEes i aR@nford aar & |
3) FTerEd I IS 1 i AT F RS

Har.dr.yg
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